Tableaux des Puissances de Dix (C)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

1000

10

10 000

100

w

89

13

33

73

0,001

0,01

10 000

0,1

85

37

17

36

100

100

10

0,001

0,0001

100

66

13

82

27

100

10 000

0,1

1 000

75

93

41

18

78

MathsLibres.com




Tableaux des Puissances de Dix (C) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 1000 10 10 000 100

3 3000 30 30000 300
89 89 000 890 890 000 8900
13 13000 130 130 000 1300
33 33000 330 330000 3300
73 73 000 730 730 000 7 300
X 0,001 0,01 10 000 0,1
85 0,085 0,85 850 000 8,5
37 0,037 0,37 370 000 3,7
17 0,017 0,17 170 000 1,7
36 0,036 0,36 360 000 3,6
100 0,1 1 1000000 10

+ 100 10 0,001 0,0001
100 1 10 100 000 1000 000
66 0,66 6,6 66 000 660 000
13 0,13 1,3 13 000 130 000
82 0,82 8,2 82 000 820 000
27 0,27 2,7 27 000 270000
+ 100 10 000 0,1 1 000
75 0,75 0,0075 750 0,075
93 0,93 0,0093 930 0,093
41 0,41 0,0041 410 0,041
18 0,18 0,0018 180 0,018
78 0,78 0,0078 780 0,078
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